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University of Calgary
Department of Economics
Economics 203 (07)

Midterm 2 Exam
Version 2
Winter 2003
R.C. SCHLENKER \
MARKS: 50 \
NSTRUCTIONS:

Answer all 50 questions. Choose the best answer and mark your choice with a pencil on the
Seantron sheet provided.

A caleulator (programmable or non-programmable) will be allowed during the writing of this
examination.

MULTIPLE CHOICE:

1. The aggregate demand curve:
shows the amount of real output which w:ll be purchased at ea::h uszlb]e rice level.
) atp P P F'

"B) is upsloping because a higher price level is necessary to make production profitable
a8  production costs rise.
s downsloping because production costs decline as real output increases.
% m'ﬂ the amount of expmduures required to induce the production of each possible

1m1 ufrea.l out .
mt{‘@*’ W :

2 Tin: foreign tmde effect suggﬂsf’ ‘.Lhat a decrease iri the Canadian price level relative to

f ngr cgunm:s will: -
ncrease Canadian exports and decrease Canadian Jmpm'ts
¢ 'B) & Canadian exports and increase Canadian imports. i
* C) shift the aggregate demand curve lefiward, .
{ D)'?ﬁﬂ!t ﬂw aggt‘egaie supply curve leftward. e

3. Allelse aquaI an I.ﬂ'tl"bd&l: in imports will shift the aggregate expendsmras curve:
A) downward and the agg: gal.'e demand curve leftward.

downward and IJ:ue ga'tc demand curve rightward.

: pv.ard and the aggregatcd:mnndcuﬂ:lahvmrd
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4. Other things equal, a decrease in the price level will: _ i P b B
A)_cause a movement up a short-run aggregate supply curve. [
ause g movement down an aggregate supply curve. e o Lh
3 shift the aggregate demand curve to the left. bd-" S
9 D) shift the aggregate supply curve to the left. T ;

5. The short run aggregate supply curve:
A) is explained by the interest rate, wealth, and foreign purchases effects.
B} contains a vertical range where real output is variable and the price level is constant.

E> C)_is downsloping because real purchasing power increases as the price level falls.
ows the various amounts of real output which businesses will produce at each price

evel.

6. Other things equal, an improvement in productivity will:

ncr::as:: the price level. I//
shift'the aggregate supply curve to the right.
5 2§ shift the aggregate supply curve to the left.
D) shift the aggregate demand curve to the left.

Use the following to answer guestions 7-8:

The following aggregate demand and supply schedules arc for a hypothetical economy:

Amoiint of Feal Price level Amount of real
output demanded  (index value) __output supplied
%200 300 $500°
30051 250 SO0 3
400 200 400 ¢ ﬁ; .
500 = - 150 300 . 1R
e, it 150 200 : 1;-:01.
: £ N

“].l“"‘ tw e fu 'Ff;ﬂ.

7. Refer to the above data. The vertical range of the agg

I:ga.tt: s:uppl}r curve is associated
with'price levels: | 5 :
q?/‘» A) 150 and 300. | B) 1250 and 300. C) 200 and 250. D) 150 and 200.
8. Rdfer to the above date. The equilitrium price level will be:
_-]( kﬂq 200, B) 150. C) 300, °D)250.
s

sl sT L sh Sl sl 3
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W

h :
(el putput rises and the price level falls, this wcr?k::ty be due to a: !
! ghmra:d shift of the aggregate demand curve. o e

ard shift of the aggrepate demand curve. |

ard shift of the aggregate demand curve. = -

D rightward shift of the aggmgatc supply curve. | \ iy
; : e
Use the following to answer question 10: —
L e [
A5 3
ASy
= = ™
: Gy z
B 2
= - =
- [+
AD AD
® Real demestic output O R eal domestic output
A e
ECVARE 1R
B t mj . ey NAF 2
Feal domestic output Resl domestic sutput Ju}/} i
ey oy F’(“ﬁ

10. Which oi‘the above diagrams best portrays the effects of declines in the incomes of other
(] :

e ‘{}EL };"’—\ . :
al policy is carried out primarily by:

“the federal government. - Sy
B} “local governments alone.

FT ) provincial and local governments working together.
D) provineial governments alone.

i T

12. _Countercy u'llcal discreti fiscal policy calls for:
ficits during recessions and surpluses during periods of demand-pull inflation.
; deficits during both recessions and periods of demand ~pull inflation.

) surpluses dmng rmcssmns and deficits during periods of demand-pull inflation.
D) surpluses during both recessions and periods ofdmaud -pull inflation. -




e 15. & expansionary fiscal policy 1s shown as a: E\)‘:“

D B) movement along an existing ngg:egatc demand curve.

R

?.f _AA) 4andS5. B) land2.
ﬂ
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st policy refers to the: “3" Ué‘

manipulation of govemment spendin nd taxes to stabilize domestic output,

employment, and the price level.

B) fact that equal increases in goverriment spending and taxation will be contractionary.

C) altering of the interest rate to change aggregate demand.

D)) manipulation of government spending and taxes to achieve greater equality in the
distribution of income.

14. An appropriate fiscal p'ulicy for severs dem%gli inflation is:
A) an increase in government spending a tax rate increase,
. B) areduction in interest rates, ﬂ#‘?, DY} depreciation of the dollar.

'A\_f

o

]eftl.vard shift in the economy's aggregate supply curve, o
P rightward shift in the economy's ﬂggregat: demand curve. ¥\@)

"~ A)“lefrward shift in the economy's aggregate demand curve. ,;5 Lo
' }

Use the following to answer questions 16-17:

1) The composite index of leading indicators turmns dorwmwanrd ﬁ:r lhree consecutive months; (2)

Economists reach agreement that the economy is moving into a recession; (3) A tax eut is
proposed in Fartlgummt {4) The tax cut is passed by Pnrlmmenx (5) Consumption spending
begins to rise, aggregate demand inereases, and the emnomy begins to recover,

el a @ ¥ ) sl

16. Refer to the & info ma 5 1'.'.' e rﬂmgruhﬂn 'r{g uﬂi'sbc‘ii policy is reflected in events:
A) 4and5 and 4./ @p: D) 2 and 3. ;

17. Refer to the above i.nfun:ﬂ_'aunn.
events:

' F-.mﬁ Mo

L e s Gal o b 4;3
a_ e : . ,
D

|a-,al1_|3 gainrg et =rr.l‘r.rl T
"ﬁ._.._n.-—-_

~

) Ll (e
Ei/ P hpep Msd ko Fh
o R W T {odgrgt fndcrl .\‘P el
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18, The "crowding-out effect” suggests that: i ..
A) consumer and investment spending alwa:.-'s vary inversely. i
w B) tax increases are paid primarily out of sawng and therefore are not an effective fiscal

]

device.
it is very difficult to have excessive aggregate spending in our economy.
@nms in government spending financed through borrowing will increase the

interest rate and thereby reduce investment. ‘K W \.-N'J(

e
Use the following to answer question 19: -

The following budget information iz for 2 hypothetical economy. All data are in billions of

dollars. v
Ciovernment spepding  Tax revenues  GDP

Year1 ' 8450 $425 £2000

Year 2 0500 450 30

Year 3 | GO0 500 40

Yeard ~ 640 620 5000

Year5 0 680 580 4800 A

: 2 Fiei ey

19. Refer to the abowve data. Fhe

. A) 83050 billion. B) tnlhtrn C) 3295 l:ulllun Dy E100 billion.

) 20. Between 1980 and 1997 the federal debt:
A) increased on a per capita basis.
B) increased as a percentage of the GDF.

mcreasad absolutely.
dn:i all of the a.bi:w:.: ;

. Other thmgs equal, the stock of capital mhﬁnted h:r furu.re genmﬂuns is likely 1o be
-smaller when government spending:
A] mm&ases duiring a period, q]l' recession, raﬂiar L'I:um prosperity.
&EDm financed by borrowing, ;. %
e C) is financed by taxation. :
; D) is primarily.for capital-type goods.
. i iy i
22 Mn,may ,ﬁ.nmhﬂns’ Bs ; : :
A) a'unit of account. . astore of value,
i B) a medium of exchange, .all of the ahove.

et
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-+ 23. What function is money serving when you buy a ticket to a movie?
e A) aunit of account v. O} amedium of exchange
i/ B) a transaction demand ) T g} a store of value
L <
24. In Canada the money supply (M1Y'is cénpriﬁﬂd af:
A) paper currency, coin, gold certificates, and time deposits.
B) coins, paper currency, demand deposits, and credit balances with brokers.
eurrency, notice deposits, and bonds.
coins, paper currency, and demand deposits. g

25. Fiat money is:
A) comprised only of demand deposits.
‘money that can be redeemed for an intrinsically valuable commedity such as gold.
@)m&y because the government asserts that it is. :
D) money that is “resting” in a chartered bank vault.

26. Suppose the ABC bank has excess reserves of 4,000 and cutstanding demand deposits
of $80,000. If thedesired reserve ratio is 25 percent, what is the size of the bank’s actual

* rEServes? g
e A) $24.000 16,000 C) $20,000 D) $84,000 E-(rcr M }
| {21 2802
27. 1f you deposit a $50 bill in a chartered bank that has a 10 percent desired reserve ratio,
the bank will:
A} have $30 of additional excess reserves.
B) be capable of lending an additional $50.

,é C) be capable of lending an additional $500.

D) have 350 of desired reserves.
| @ have 345 of additional excess reserves. 'r

BMT Ty
#il ‘ sl L
28. If the desired reserve ratio is 15 t and chartered bankers decide to hold additional

excess reserves equal to 5 percent of any newly acquired demarnid deposits, then the
i e S relevant money multiplier for the bankipg-System will be: j
Pa—

A) 3% B)623. C)4 D) 10

29. If the desired reserve ratio falls: J7 W J;b It it
7 A) banks would be prompted to reduce their lending. gl I
C/ a the actual reserves df't_ha_nks_ would increase. i v
s the size of the money multiplier would increase. f };
D) none of the above would occur. ;



o i
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30. Which of the following is not a tool of monetary policy?

>
4

A) changes in the bank rate
B) open-market operations .
switching government deposits into and out of the chartersd banks
hanges in tax rales e

1. Inthe Canadian economy, the money supply is controlled by
A) the Governor in Council (the Cabinet).
B) Parliament. :
C) the Department of Finance.
D).the House of Commons Committee on Finance.
é}iﬁe Bank of Canada. :

h of the following statements best describes the Bank of Canada? It is:

32 jc i
publicly owned and publicly controlled central bank, whose basic goal is to control
r\ e ¥ and E@;{Wn promoting the general economic welfare,
=

*™B)_a publicly owiied and pub frolled central bank, whose hasic goal is to provide
income for the Government of Canada.
\G;\ap;i\-m!}r owned and privately controlled central bank, whose basic goal istw
provide an ample and orderly market for Government of Canada securities.
; D}:\Ehp;jvateiy owned and publicly controlled central bank, whose basic goal is to eam
~#. . profits for jts owners. 1) e
) & privately owned and publicly controlled central bank, whose basic function is to
minimize the risks in chartered banking in order to make it a reasonably profitable

33. "Open-market operations" refers 1o

C

A) central bank lending to chartered banks.
B) the specifying of margin requirements on stock purchases.
¢ ‘the purghase or sale of government securities by the Bank of Canada.
D) _purchases of §tocks in the Toronto Stock Exchange.
pLv=S: ﬁ?

34 It : ank of Canada buys govemment securities from chartered banks and the public:

money supply will contract. 5, .
B) it will be easier to obtain loans at chartered banks. P
chartered bank reserves will be unaffected. :

chirtered bank reserves will decline. D¥

t ey L t

B
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35, The bank rate is the rate of interest at which:
} chartered banks lend to large corporations.
the Bank of Canada lends to chartered banks.
gi'? ) financial institutions lend to some builders.
D) the Bank of Canada lends to large corporations.

36. The asset demand for money is most closely related to money functioning as a:
A) store of value. measure of value,

6 ([:ibunit of account. /D] medium of exchange.

37. If the money GDP is $600 billion and, on the average, each dollar is spent three times per
year, then the amount of money demanded for transaclions purposes:

A) cannot be determined from the information given. o
B) will be $1800 billion. - o
D C)..ajll be $600 billion. - - B
i 1ll be $200 billion. : o
LY

1. In which of the following instances can we be certain that the quantity of money
demanded by the public will decrease?
(?I nomipal GDP increases and the interest rate increases

s
C/ nominal GDP decreases and the interest rate decreases
nominal GDP decreases and the interest rate increases.-
nominal GDP increases and the interest rdte decreases
Use the following to answer question 39

P

N

aq
Quantity af money

[

.
=
T
|
1 i
1 i
1 n
i [
i H
i [
i
' f
1 ]
H

Interesc Cabe

(s
]

T

H

[

i

¥
]
H

'

1

L=}

INE C) #5. D) not determinable without further information.

39, Referto @nv& money market diagram. The equilibrium interest rate is:
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40, Which of the following statements is correct?
A) Interest rates and bond ;:nncas vary directly.
B) Intercst rates and bond prices are unrelated.
: C) Interest rates and bond prices vary directly during inflations and inversely during
s8i0n0s.
terest rates and bond prices vary inversely.

41. Which of the following best destribes the cause-effect chain of a contractionary monetary
pu!i-;'.:.."? ! :
A) Anincrease in the money supply will
spending, and decrease GDP.
An increase in the money supply will lower the interest rate, decrease investment
p%dmg,_ and increase GDP.

ize the interest rate, decrease investment

will raise the interest rat crease invustmtm

i, :a.qd decrease GDP.
_m 1_]1.; money. supply will lower the interest rate, increase mvcstmcnt

1 "l'lmmq s.'h e e

42 Iu.ﬂahaﬁnrj- pressure is a growing pmblm for the economy. Theréfore; thé Federal
s escrr_.re decides to pursue a}n]my to redusce the inflatioharyipe ] nh tiof
hi ithe u]d rcmfnrr.e ea.:,h other 0. ;

it

C} aggregatr: Suppl} cifvele
D) aggregate auppl}r curve nf;"m
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44, Faderal government debt in Canada is now roughly
4. 35.5 billion
- (12355 billion
& $550 hillion
d. $5.5 trllion

Which of the following Canadian provinces is generally considered a "have’ province
in terms of per capits market income levels 7

/ a. Alberta
b< b. Newfoundland
T Quebec
d. Saskatchewan
46. Federal government fiscal policies have redismributed larpe amounts of monsy across

regions in the last 40 years. In per capila terms, the promary recipient has been the
province of while the primary contributor has been the province of

. S Prince Edward Island, Alberta o=
_ ‘ b. Prince Edward Island, Ontario [H
i ¢.  Cuebec, Alberta . ot ;
d. Quebec, Ontario

" 47. Fiscal policy has an advantape over monetary policy with respect to

%\ : : a. recognition Iz
o oo decision (administrative) lag

Ee
(ran s St tional) 1 =T e,
‘3‘{5 (/ q ;rnnvpaﬁlhﬁft;m iy }7(/ - G’_ As )’1'.1 :

S 48. I the interest rate is 4%, the present value of & perpetuity that pays $400/n ?m'”’"—f}. e
{ ) e 3 i 2
W a. 516 b. §385 c. $416 10,000

49, If the present value of a bond that will pay $1,000in 2 years is $940, the interest rate 1%’ { E

l”‘hf?*! must be
[ L 1 5 5'r b
q40~ {z,;}ﬂ" 2. 1.03% . b 106% /@114% d. 6.38% -
4 i3
[ —i3fee®

: _50. Suppose a project invalves an outlay of $135,000 in the initial year of operations. Tn
e 3% each of the three following years, revenues are $95,000 and expenses are $40,000.

‘ff""_ - J-felhﬁ interest rate is 8%, the net present value of Iilus pm_]ﬁ:us
ﬁ-.. . ;'4 ﬂ - T
(\@i?sﬁ??w b. $18,080 (. $30.000 ) 41740 -
Atk e e e e 'T”I ] 443606 ; cr

it ?a’zr J - ! "q I H .';:Eh'J K S; o




